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Resolucion: | Equilibrio global en A:
— 2475 dN Plano Operatorio: 1tm=1000daN
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Ma = 5062/ X 2.23 = 11288 dN RC=12800 dN
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RA=5062 dN d=2.23m 500 daN
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Equilibrio en B y
5062 dN
A
Solicitaciones en S-S:
Plano Operatorio: 1tcm=1000daN
~ Ms = 5062 X 0.346 + 11288 = 13039 dNm
S——S
RA=5062 dN
Ns = 4750 dN (C) RA=5062 dN
Ma = 11288 dNm
Vs = 1750 dN

esf. barra 1 = 11250 dN (T)

esf. barra 9 = 1875

RC=12800 dN

5062 dN

RB=14.945 dN = esf. barra 8 (C)

Solicitaciones en barras 1, 8y 9
Plano Operatorio: 1tm=1000daN




